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Unit A Review: Logic i{:&am\{ ¥

Let p = “Joe goes to the movies” and q = “Joe cleans his room.” Write p@q in
words.

Jot qoes to themovies it & onty i he clears his o,

Consider this conditional: “All fish swim.” =7 \{ S @& ﬁ(h, then it Swivs,

. Write th m
. wneveggpestion )¢ s g fish

b.  Write the implication. TYW 1+ SWITS
| “than” pavk

Consider this conditional: “if x = 11, then x < 10.”

T
a. Give an instance of the conditional. X = O\

b. Give a counterexample of the conditional.  :,_ D
T.F A Z

True or False. If the converse of a statement is false, then the statement itself
must be false. F

Refer to the statement: “Every equilateral triangle is a polygon with three sides
of equal length.”
Ahew...

a. Write the statement as a condltlonal p—‘ﬂb

IS an equilateral viangly, ten it has
5 s of equal lengtn.

b. Write the inverse of the conditional.

NP"]‘U%
€115 10 an - equilateral Hiangle, then o
does Mot bhave 3 sides ot Qual  Wngth,
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6. Refer to the statement: “If a triangle is equilateral, then it has all three sides
equal.”

Y
a. Write the converse of the conditional.

F s 3 sides ual, Phan its on
swildagyal A

b. Write the contrapositive of the conditional.
N CL—"; ~

: P :
# it doss ok awe 3 gides equal, Than W
Ny an  Quilaral A

7. Shane’s brother told him “If | get a job delivering newspapers, 1 will [ocan you
$15." Later that day, Shane had $15 to spend on clothes. Did his brother get a
job delivering newspapers? Explain your reasoning.

No, we dont koow it the “1f part” happered
W earve dotien NS fom s mom

8. Refer to the statement: “If the measure of an angle is 90 degrees, then that
angle is a right angle.”

a. Write the cgh_?/grse of the statement. . .
IF an angu is vignt, thon it measyres 40°

b. Is the converse true or false?

e

In 9-11, use all of the statements.

j ) / I ?
ittty =
9. (1)/If a figure is a rectangle, then it is a trapezoid. P"’NL

(2) LOVE is a trapezoid. %
\__/W

1
no  (onctusion
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P
10. (1) If corresponding angles formed by a fransversal are congruent, then two l

lnes are parallel
(2) lf alternate intefior argles formed by a ¥ ns rsal are congruent, then so
corresponding an Ies

i O\HﬂVerf, iNterior an ug ore. . ,
xCOY\ﬁYUeh+ than Hhe Nives are ?O\VO\\\U

11. (1) IfnL m, then m A= 90 i F 7q
(2) oA = 75! v, 3 (ncwde: ~vp
na

15 no+_l_+om

In12 & 13}mrse b) gezlznverse C) the contraposntlve and d) tell

which of the statements (if any) are true.

12. " x=3then x*=9" P79

70 = W x* =9 Hhun x=2.
mpeg b (E XF D then x* 9

s E X # A, Hun xE2
d. ¢

13. [l a figurgis a rectanglefrtﬁen itida square.‘ F -?OL
grp = F s asquare, then its o redtang\e.
“png b if s ot o reckangl, fThenits nor a Squarc.

narR e |p ‘T\Z ot & SAVY, Han its ot a rectangle.
d &

14,  Give an indirect proof to show that /2400 =49,

() Ascumne Ffw’ =49
@ L\q.qal = 4O <« (ontvadichon

() sine 4€.99%# 49 we know {2400 * 4.
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Complete the following logic puzzle.

PARKING LOT

. Mr._Smith, Mr. Jones, Mr. Br_own,‘Mr-' e

Johnson, and Mr. Black work for the Tinyburg
Electric Company. Their cars are different
colors: red, yellow, green; blue, and white. As
it happens, each man also drives a different
type of car: a sedan, a station wagon, a sports
car, a coupe, and a convertible. From the clues
given try to determine the owner, color, and
type of each car

L.

"convertible.

Givn. A
Neither'Mr. Johnson'nor Mr. Jones owns the
red car, but one of them owns the

Mr. Jones, Mr. Brown, and the owner of the

sedan sometimes go on ¢ ing trips with
the owner of thg yvellow station wagop.

Mr. Smith used to own the sports car put then he changed its @e
men who did not paint it green.

. The coupe and the white car are owned by '
the men with the colorfulW

color and sold it to one of
Mr. Johnson owns a gréen car.

nlZ § x 3 z-
FHHHE BEEBE
ASHE EE SHEIE
SEDAN I ALY I XAV XIY
sta-waGoN [ DAY KU S L
sports cAR DAY INUX [V R AIX IV
COUPE 7(%;(7&;(\/%(())((\7‘; .
. CONVERT. - -
A =
YELLOW 1v XA
GREEN DA X[V X
BLUE P A
WHITE 7(\,%)(“/




